Pre-Calculus (A)
Law of Sines/Cosines Quiz Review
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Determine whether the Law of Cosines or the Law of Sines is needed to solve each of the
following triangles. It might help to sketch a triangle for each one.
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2) a=96,b=43, mZA=105°

3)a=24,b=16,c=29

4) a=15,c=42, msZB=49° SAS> Lawof Cosines

Solve the triangle(s) for questions #5-9.
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7) a=15.3, b=30.6, mZA =30° (sSA-LowokSmes )
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9) a=9, c=10, mLA=60° (SA-Low OFSines)
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Find the area of the triangles for questions #10-11.
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11) a=6,b=10, m£C=110°
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12) Because of prevailing winds, a tree grew so that is was leaning 6 degrees from vertical
away from you. You are at a point 30 meters from the tree, the angle of elevation to the
top of the tree is 22.5 degrees. Find the height of the tree.
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13) The state of New Hampshire is approximately triangular in shape. Use the diagram at B
the right to estimate the area of the state to the nearest thousand square miles.
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14) An emergency rescue helicopter has flown from its home base at point C to pick up an
accident victim at point A and then from there to the hospital at point B. The pilot
needs to know how far he is now from his home base so he can decide whether to
refuel before returning. How far is the hospital from the helicopter’s base?
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15) A plane leaves JFK International Airport and travels due west at 570 miles per hour.

Another plane leaves 20 minutes later and travels N 22° W at the rate of 585 miles per

hour. To the nearest mile, how far apart are they 40 minutes after the second plane
leaves? 4
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16) A plane flies in a straight line at 400 mph for 1 hour and 12 mirflut‘é%. The plane then
makes a 15 degree turn and flies at 375 mph for 2 hours and 27 minutes. How far is the
plane from the starting point? ~ ?ﬁ% <. 48Ny
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